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Attempt Q. 1 as a compulsory question and

attempt any two more questions from the rest.
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1.

Attempt any five questions : (3x5)

(a) Why do competitive firms stay in business if they
make zero profits 7 Explain.

(b) Examine the relationship between average revenue
and marginal revenue under monopoly.

(c) When government raises taxes its revenues will
: . o .
go on increasing. True or False ? Explain.

(d) If T always spénd 60% of my income on food
what is my price elasticity for food ? Explain.

(e) What are compensating differentials in wages ?
Why are they i'mportant?

(f) What is meant by moral hazard ? If a teacher

assigns the samé grade to all members of a group

who submit a group project and the members know

about it, will this lead to a moral hazard problem ?
. Explain.
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2. (a) With the help of indifference curves explain why
the demand curve for a normal good will always
be downward sloping ?

- (b) If a tax of Rs .t per unit is levied on bread, how
will the price of bread change ? Who will bear a
larger burden of tax- consumers or producers?

Explain.

P.T.O.



2001 4

(¢) The following is the demand curve for a
representative consumer

P=15-2q

If the price of the good is 5, find the consumer
surplus. (6,6,3)
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3. '(a)'Sho_w the equilibrium of a perfectly competitive
* . firm having losses. When will it exit from the
. industry ?

(b) The allocation of resources is not only efficient in
© competitive markets but also in monopoly markets
where the monopolist can perfectly price

» discriminate. Explain with the help of diagrams.
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(¢) Discuss the various attributes of an investment
opportunity that you will consider before investing
your money in it. (5,6,4)
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4. (a) Define marginal product and value of marginal
product for labour. Describe how a competitive
profit maximizing firm decides how many workers
to hire,

(b) Suppose there are two countries A and B
producing only two commeodities X and Y using
labour as the only factor of production. Following
table gives the maximum production of either good
if all labour is used in the production of only one
good :

P.T.O.
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Good X Good Y

Country A 40 100

Country BI . 80 400

(1)

(ii)

Which country has an absolute advantage and
1

a comparative advantage in the production of

good X ?

If both countries are currently devoting one
half of their labour resource in the production
of X and the other half in the production of
Y, what wil] be the production levels in both

. countries in'the absence of trade,

(iii)

If trade opens what will be the trading

_pattern ? What will be the range of exchange

rates between the two goods at which

trade will {lae beneficial for both countries ?

Explain,

"(¢) Examine the consequences of fixing a price ceiling

on any commodity. (5,6,4)
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SECTION - ‘B’ (31 - ‘@)

“Attempt Q. 5§ is a compulsory guestion and
attempt any two other questions from Q. 6, 7 and 8.
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5. Answer any three questions: (3%4)

(a) The multiplier effect of a change in government
spending on aggregate output in the long run is
zero. Do you agree ? Explain.

(b) The central bank of Islandia has issued currency
worth 1 million guilders in circulation. Qut of which
citizens hold 5,00,000 guilders in hand and deposit

" the rest with banks.

(i) What is the money supply in Islandia if
required reserves equal 10% of deposits for
banks ?

(if) How will the money supply changes if citizens
withdraw 1,00,000 guilders from banks for
shopping during Christmas season ?

(¢) With the circular flow of payments explai’n the
interaction between households, firms, rest of the
world and the government.
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(d) Using money demand and money supply curves
show the effect on interest rates if (i) income
increases (ii) price level increases, other -things

remaining constant.
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6. (a) What are the factors which affect the demand
and supply of a currency ? How will the exchange
rate between currencies of India and U.S change
if inflation in India is higher than in U.S. other
things remaining the same ?

(b) Explain the expenditure method of calculating GDP.
Why is the expenditure on second hand goods not
included in GDP ? (5,4)
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7. {a) Explain the impact of an expansionary fiscal
policy on both the goods market and the money
mark<;et. In this light explain the concept of
‘crowding out”.

(b) Financial investors in bonds will increase their
holdings of money if they begin to expect an

increase in money supply by the central bank.
True/false ? Explain. (6,3)
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8. (a) Explain the classical theory of inflation.

(b) Given the following data for an economy :.
Consumption function : C=50+09Yd
Investment function =150
Government expenditure : G = 200
Taxes : T=100
Calculate (i} equilibrium level of income (ii) what

is the value of tax multiplier (iii) if taxes increase
to 150 what is the change in income ? (6,3)
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